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1. A triangular region is enclosed by the lines with

1.

equations 
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What is the area of the triangular region? 
Express your answer as a decimal to the 
nearest hundredth.
2. If eight apples cost the same as four bananas,

2.

and two bananas cost the same as three cucumbers, 
how many cucumbers can Tyler buy for the 
price of 16 apples?
3. A four-digit integer m and the four-digit integer

3.
obtained by reversing the order of the digits of m 
are both divisible by 45. If m is divisible by 7, 
what is the greatest possible value of m?
4. A capital “N” can be formed by properly connecting
4.

10 numbers in the chart as shown below. Every “N” 
must be congruent to the one shown and must maintain 
the same orientation. The sum of the ten numbers of a 
particular “N” is 525. What is the least of the ten numbers?
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5. If 
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what is the sum of the

5.

numerator and denominator of the largest fraction 
on the left side of the equation?
6. Circle A is in the interior of circle B. The diameter

6.

of circle B is 16 cm. What is the diameter of 
circle A for which the ratio of the shaded 
area to the area of circle A is 3:1?
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7. In the game of Frood, dropping n froods gives a score
7.

of the sum of the first n positive integers. For example, 
dropping five froods scores 1 + 2 + 3 + 4 + 5 = 15 points. 
Eating n froods earns 10n points. For example, eating 
five froods earns 10(5) = 50 points. What is the least 
number of froods for which dropping them will earn 
more points than eating them?
8. On the game board below Kendra will start at the center
8.

of the board. For each turn she will spin this spinner with 
four congruent sectors once, and then she will move one 
space in the direction indicated on the spinner. The “Start” 
square does not have a numerical value, but Kendra may 
land on it during her turns. What is the probability that the 
sum of the numbers in the spaces on which she will land 
will be exactly 30 after her third complete turn? 
Express your answer as a common fraction.
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9. Emma plays with her square unit tiles by arranging


9.

all of them into different shaped rectangular figures. 
(For example, a 5 by 7 rectangle would use 35 tiles 
and would be considered the same rectangle as a 7 by 5 rectangle). 
Emma can form exactly ten different such rectangular 
figures that each use all of her tiles. 
What is the least number of tiles Emma could have?
10. In a math class, 12 out of 15 girls are freshmen and

10.

11 out of 15 boys are freshmen. What is the probability
that in a randomly selected group of five students from the 
class, there will be two freshmen girls and three freshmen 
boys? Express your answer as a decimal to the nearest 
thousandth.
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